



Simple. Earn More Commissions for the Life of Your Accounts.

How Do I Earn Commissions With Frontline Funding?

- Locate start-up or established staffing companies seeking a payroll funding partner to help grow their business.
- Simply have your prospect fill out the application at apply.frontlinefunding.com. Once received a representative from the FF UW department will assist you in helping your prospect complete the UW process.



How Much Are You Going to Pay Me?



Year 1 & 2

"10% of the collected fees from the prior month"

Year 3

"7% of the collected fees from the prior month"

Year 4

"Year 4 and beyond will be paid at 4% for life"

Commissions For Life!

When Do I Get Paid?

Commission statements are generated and sent electronically on the 15th of each month.

Payments will be processed via ACH into the account you've designated on the 20th of the month.

If you have questions regarding your commission statement or payment being made, your FF accounting representative will work with you until the matter is resolved to your satisfaction.



Sample Commission Statement

Frontline Funding
Broker: The Sample Broker

Detail BDM Commission Report
June 1, 2022 Thru June 30, 2022

Client..	Date	Batch#	Type	Purchases	Collections	Adjustments	Fee Earned	Rate	Of	Commission
Supreme Staff USA (SSTAFF)										
	6/2/2022	1122	BUY	16,985.27				10.00	Earnings	
	6/2/2022	123	PMT		10,819.41		146.07	10.00	Earnings	14.61
	6/6/2022	125	PMT		2,659.33		35.90	10.00	Earnings	3.59
	6/7/2022	126	PMT		2,611.16		35.25	10.00	Earnings	3.52
	6/8/2022	127	PMT		11,112.51		150.03	10.00	Earnings	15.00
	6/9/2022	1126	BUY	13,993.63				10.00	Earnings	
	6/14/2022	138	PMT		12,603.93		170.15	10.00	Earnings	17.02
	6/15/2022	129	PMT		1,980.24		26.73	10.00	Earnings	2.67
	6/15/2022	130	PMT		527.86		7.13	10.00	Earnings	0.71
	6/16/2022	131	PMT		364.48		4.92	10.00	Earnings	0.49
	6/16/2022	132	PMT		1,946.74		33.36	10.00	Earnings	3.34
	6/16/2022	1129	BUY	20,568.74				10.00	Earnings	
	6/21/2022	139	PMT		14,283.30		192.82	10.00	Earnings	19.28
	6/23/2022	134	PMT		999.54		13.49	10.00	Earnings	1.35
	6/23/2022	135	PMT		6,327.14		108.56	10.00	Earnings	10.86
	6/23/2022	1134	BUY	20,523.38				10.00	Earnings	
	6/27/2022	137	PMT		814.74		11.00	10.00	Earnings	1.10
	6/29/2022	140	PMT		371.33		5.01	10.00	Earnings	0.50
	6/30/2022	1138	BUY	22,480.16				10.00	Earnings	
		*		94,551.18	67,421.71		940.42	10.00	Earnings	94.04
		**		94,551.18	67,421.71		940.42	10.00	Earnings	94.04

Business Development Compensation Package

- Salary paid on a weekly basis in accordance with the designated payroll schedule
- Commission Structure - Residual for the life of your accounts
Monthly Expense Remibursement of \$9600.00 per year. Paid on a weekly basis in accordance with the designated payroll schedule. Additional Expenses will be approved if pre-authorized
- 3 weeks of Paid Time Off (PTO)
- Paid Medical, Dental and Vision at a single employee rate by FF up to \$700 per month





Thank You!

Scott Hanson | (888) 858-0018 | scott@frontlinefunding.com | frontlinefunding.com